REQUEST FOR BIDS

Notice is hereby given that:

Dalhart Independent School District 701 East 10th Dalhart, TX 79022

Will accept bids for:

SERVERS, STORAGE, NETWORK SWITCHES AND COMPUTERS

For

DALHART INDEPENDENT SCHOOL DISTRICT

According to the specifications as prepared by Dalhart Independent School District and described in general as:

SERVERS, STORAGE, NET. SWITCHES AND COMPUTERS FOR DALHART I.S.D.

Sealed bids will be received at the office of:

Dalhart Independent School District Attn: Delbert Dodds/Scott Hand 701 East 10th Dalhart, TX 79022

Until 2:00 P.M., on June 14, 2011.

Dalhart Independent School District reserves the right to reject any and/or all bids, to make awards as they may appear advantageous, and to waive all formalities in bidding.

To request proposed documents and request specifications call or contact:

Dalhart ISD Administration Building Scott Hand 701 East 10th Dalhart, TX 79022 Phone: 806-244-7209 shand@dalhart.k12.tx.us

Run in paper on May 27, 2011 and June 3, 2011.

Dalhart ISD 701 East 10th Street Dalhart, TX 79022

Sign-In Sheet

Bids for Servers, Storage, Network Switches and Computers to be Opened at 2:00 p.m. at Central Office on June 14, 2011.

Present Look
Ausan Hopking
boar Mam Zansall
DE SERVICE
Bidders: Bid:
Advanced PC Products Serves: 13,313.00
Server: 46,030.00
Servi 4/4870.00
Switch: "10,180.00
Switch: \$ 1,725.00
Server: \$7,305.00



www.advpc.com

June 08, 2011

Dalhart Independent School District Attn: Delbert Dodds / Scott Hand 701 East 10th Street Dalhart, TX 79022

Dear Mr. Dodds and Mr. Hand:

We appreciate the opportunity to offer a proposal for your upcoming bid. Our company is submitting a proposal for your review on the "SAN Servers, Netgear Switches and accessories for Dalhart I.S.D" bid, opening on June 14, 2011.

Advanced PC Products, Inc. has done considerable business with Dalhart I.S.D., over the years and we have been fortunate to have an excellent working relationship with you and your staff. Dalhart I.S.D. has been, and still is, one of our most valued customers, and we hope to continue doing business with you for many years to come.

We realize that when it comes to purchasing your computers and IT supplies you have many options to choose from, we appreciate you choosing us. We hope that you will keep us in mind when considering the new bid award. We offer quality products, exceptional warranties and competitive pricing.

We appreciate your time and consideration, and look forward to hearing from you soon.

Sincerely,

Umit Adiguzel President Quote 1AA23 Oty 2 Servers

Advanced PC Products. 2035 Royal Lane Suite 200 Dallas, TX 75229

(972)241-2744 Phone # Fax # (972)241-0916



Quote

Date	Quote #
5/23/2011	14423

www.advpc.com

Name / Address

DALHART INDEPENDENT SCHOOL DIST C/O: SCOTT HAND 701 EAST 10TH DALHART, TX 79022

P.O. No.	Terms	Rep	Account #	Project	Ship Via
SERVERS	Net 30	U	DAL747		UPS
Item	Item Description		Qty	Rate	Total
CASVRINSR261	Intel® SR2612URRNA 2U DUAL XEON 12-BAY HOT SWAP Storage Server System 2x760W PSU SAS/SATA		2	1,750.00	3,500.00
CASVRINSR25B			2	39.00	78.00
CPIXEQC5620	==PROCESSOR== Xeon QuadCore E5620 2.40GHZ 12M CACHE		4	400.00	1,600.00
ME4GBD3DD13	(32GB) TOTAL SERVER MEMORY DDR3 4GB 1333MHz ECC REG ==HARDDRIVE== Seagate 300Gb SAS 15K RPM 16Mb ==RAID CARD== LSI Logic MegaRAID 9260-8i SAS SATA RAID Controller 512MB PCI Express x8 ==SAS INTERNAL CABLE== SFF-8087 TO SFF-8087 1METER CBI		16	125.00	2,000.00
DRHSGSAS300			12	225.00	2,700.00
IOLSISAS9260			2	550.00	1,100.00
CBSAS8087TO80			2	98.00	196.00
ORDVDWLGSLI			2	85.00	170.00
ASLABOR09	==LABOR== SERVER ASSEMBLY AND T	TESTING	2	75.00	150.00

TERMS AND CONDITIONS

- 1). 1 YEAR LIMITED WARRANTY ON COMPONENTS ONLY. ADVPC IS NOT RESPONSIBLE FOR DATA LOSS UNDER ANY CIRCUMSTANCE.
- 2). 1 YEAR LIMITED WARRANTY ON ALL SYSTEMS. 2 YEAR WARRANTY AVAILABLE. PLEASE ASK YOUR SALES REP FOR DETAILS.
- 3). ALL HP PRODUCTS CARRY MANUFACTURERS WARRANTY.
- 4). 15% RESTOCKING FEE FOR ALL RETURNS. NO RETURN OR CREDIT ON SPECIAL ORDER ITEMS. 5). ALL RETURNED CHECKS WILL INCUR A \$20.00 FEE.
- 6). ADVPC OFFERS A 30 DAY WARRANTY ON ALL AMERICAN POWER CONVERSION PRODUCTS MANUFACTURERS WARRANTY THEN APPLIES. 7). WE TAKE GREAT CARE TO ENSURE YOUR SHIPMENT IS ACCURATE, HOWEVER SHOULD YOU
- EXPERIENCE ANY PROBLEM PLEASE CONTACT US WITHIN 48 HOURS. FOR MORE DETAILED INFORMATION, VISIT OUR WEBSITE AT WWW.ADVPC.COM

Subtotal	
Sales Tax (8.25%)	
Total	



Quote

Date	Quote #
5/23/2011	14423

www.advpc.com

Name / Address

(972)241-0916

Fax #

DALHART INDEPENDENT SCHOOL DIST C/O: SCOTT HAND 701 EAST 10TH DALHART, TX 79022

P.O. No.	Terms	Rep	Account #	Project	Ship Via
SERVERS	Net 30	U	DAL747		UPS
Item	Description		Qty	Rate	Total
CASVRINMFSY	Intel AXXMFRAIL Toll-Less Sliding Rail Kit for MFSYS25/MFSYS35		2	109.00	218.00
			2	706.00	1,412.00
FREIGHT	==FREIGHT== SHIPPING, HANDLING AN		2	94.50	189.00

TERMS AND CONDITIONS

- 1). 1 YEAR LIMITED WARRANTY ON COMPONENTS ONLY. ADVPC IS NOT RESPONSIBLE FOR DATA LOSS UNDER ANY CIRCUMSTANCE.
- 2). 1 YEAR LIMITED WARRANTY ON ALL SYSTEMS. 2 YEAR WARRANTY AVAILABLE. PLEASE ASK YOUR SALES REP FOR DETAILS.
- 3). ALL HP PRODUCTS CARRY MANUFACTURERS WARRANTY.
 4). 15% RESTOCKING FEE FOR ALL RETURNS. NO RETURN OR CREDIT ON SPECIAL ORDER ITEMS. 5). ALL RETURNED CHECKS WILL INCUR A \$20.00 FEE.
- 6). ADVPC OFFERS A 30 DAY WARRANTY ON ALL AMERICAN POWER CONVERSION PRODUCTS
- MANUFACTURERS WARRANTY THEN APPLIES.
 7). WE TAKE GREAT CARE TO ENSURE YOUR SHIPMENT IS ACCURATE, HOWEVER SHOULD YOU EXPERIENCE ANY PROBLEM PLEASE CONTACT US WITHIN 48 HOURS. FOR MORE DETAILED INFORMATION, VISIT OUR WEBSITE AT WWW.ADVPC.COM

Subtotal	\$13,313.00
Sales Tax (8.25%)	\$0.00
Total	\$13,313.00

Olote 14216 SAM Server 1

Advanced PC Products. 2035 Royal Lane Suite 200 **Dallas, TX 75229**

Phone # (972)241-2744 Fax # (972)241-0916



Quote

Date	Quote #
4/13/2011	14276

www.advpc.com

Name / Address

DALHART INDEPENDENT SCHOOL DIST C/O: SCOTT HAND 701 EAST 10TH DALHART, TX 79022

P.O. No.	Terms	Rep	Account #	Project	Ship Via
SAN SERVER 1	Net 30	U	DAL747		UPS
Item	Description		Qty	Rate	Total
CASVRINSR261	==INTEL 2U SERVER== Intel® SR2612URRNA 2U I HOT SWAP Storage Server S	DUAL XEON 12-BAY System 2x760W PSU	1	1,750.00	1,750.00
CASVRINSR25B	SAS/SATA		1	39.00	39.00
CPIXEQC5620	==PROCESSOR== Xeon QuadCore E5620 2.40GHZ 12M CACHE		2	400.00	800.00
ME4GBD3DD13	(16GB) TOTAL SERVER MEMORY DDR3 4GB 1333MHz ECC REG ==HARDDRIVE== Seagate 600GB SAS 15K RPM 16MB ST3600057SS ==RAID CARD== LSI Logic MegaRAID 9260-8i SAS SATA RAID Controller 512MB PCI Express x8 2x SFF-8087 ==SAS INTERNAL CABLE== SFF-8087 TO SFF-8087 1METER CBL		4	125.00	500.00
DRHSGSAS6001			8	485.00	3,880.00
OLSISAS9260			1	550.00	550.00
CBSAS8087TO80			1	98.00	98.00
ORDVDWLGSLI	==OPTICAL DRIVE== LG SLIM DVDRW 8X SATA	OEM	1	85.00	85.00
MSLABOR09	==LABOR== SERVER ASSEMBLY AND	resting	1	75.00	75.00

TERMS AND CONDITIONS

- 1). 1 YEAR LIMITED WARRANTY ON COMPONENTS ONLY. ADVPC IS NOT RESPONSIBLE FOR DATA
- LOSS UNDER ANY CIRCUMSTANCE. 2). 1 YEAR LIMITED WARRANTY ON ALL SYSTEMS. 2 YEAR WARRANTY AVAILABLE. PLEASE ASK YOUR SALES REP FOR DETAILS.
 3). ALL HP PRODUCTS CARRY MANUFACTURERS WARRANTY.
- 4). 15% RESTOCKING FEE FOR ALL RETURNS. NO RETURN OR CREDIT ON SPECIAL ORDER ITEMS.

- 4). 15% RESTUCKING FEE FOR ALL RETURNS. NO RETURN OR CREDIT ON SPECIAL ORDER TERMS.

 5). ALL RETURNED CHECKS WILL INCUR A \$20.00 FEE.

 6). ADVPC OFFERS A 30 DAY WARRANTY ON ALL AMERICAN POWER CONVERSION PRODUCTS MANUFACTURERS WARRANTY THEN APPLIES.

 7). WE TAKE GREAT CARE TO ENSURE YOUR SHIPMENT IS ACCURATE, HOWEVER SHOULD YOU EXPERIENCE ANY PROBLEM DE FASE CONTACT HE WITHIN 49 HOURS. EXPERIENCE ANY PROBLEM PLEASE CONTACT US WITHIN 48 HOURS. FOR MORE DETAILED INFORMATION, VISIT OUR WEBSITE AT WWW.ADVPC.COM

Subtotal	
Sales Tax (8.25%)	
Total	

Advanced PC Products. 2035 Royal Lane Suite 200 Dallas, TX 75229

Phone # (972)241-2744 Fax# (972)241-0916



Quote

Date	Quote #
4/13/2011	14276

www.advpc.com

Name / Address	
DALHART INDEPENDENT SCHOOL DIST C/O: SCOTT HAND 701 EAST 10TH DALHART, TX 79022	

P.O. No.	Terms	Rep	Account #	Project	Ship Via
SAN SERVER 1	Net 30	U	DAL747		UPS
Item	Item Description		Qty	Rate	Total
CASVRINMFSY	==RAIL KIT== Intel AXXMFRAIL Toll-Less MFSYS25/MFSYS35	s Sliding Rail Kit for	1	109.00	109.00
FREIGHT	==FREIGHT== SHIPPING, HANDLING AN	D INSURANCE.	1	144.00	144.00

TERMS AND CONDITIONS

- 1). 1 YEAR LIMITED WARRANTY ON COMPONENTS ONLY. ADVPC IS NOT RESPONSIBLE FOR DATA LOSS UNDER ANY CIRCUMSTANCE.
- 2). 1 YEAR LIMITED WARRANTY ON ALL SYSTEMS. 2 YEAR WARRANTY AVAILABLE. PLEASE ASK YOUR SALES REP FOR DETAILS.
- 3). ALL HP PRODUCTS CARRY MANUFACTURERS WARRANTY.
 4). 15% RESTOCKING FEE FOR ALL RETURNS. NO RETURN OR CREDIT ON SPECIAL ORDER ITEMS.
- 5). ALL RETURNED CHECKS WILL INCUR A \$20.00 FEE.
 6). ADVPC OFFERS A 30 DAY WARRANTY ON ALL AMERICAN POWER CONVERSION PRODUCTS MANUFACTURERS WARRANTY THEN APPLIES.
- 7). WE TAKE GREAT CARE TO ENSURE YOUR SHIPMENT IS ACCURATE, HOWEVER SHOULD YOU EXPERIENCE ANY PROBLEM PLEASE CONTACT US WITHIN 48 HOURS. FOR MORE DETAILED INFORMATION, VISIT OUR WEBSITE AT WWW.ADVPC.COM

Subtotal	\$8,030.00
Sales Tax (8.25%)	\$0.00
Total	\$8,030.00

Ollote JAAAT SAN Server 2



Quote

Date	Quote #
5/27/2011	14447

www.advpc.com

Name / Address

(972)241-0916

Fax #

DALHART INDEPENDENT SCHOOL DIST C/O: SCOTT HAND 701 EAST 10TH DALHART, TX 79022

P.O. No.	Terms	Rep	Account #	Project	Ship Via
SAN SERVER 2	Net 30	U	DAL747		UPS
Item	Description		Qty	Rate	Total
SP10	==2U STORAGE SERVER CASE== SC216E16R1200RPB 2U 24 bays SAS/SATA Storage Server Case w/ 2x600W PSU		1	1,444.00	1,444.00
SP10	=SPARE PSU== SuperMicro 600W PSU		1	225.00	225.00
SP10	==RISER CARD=== RISER CARD 2XPCI e X8		1	88.00	88.00
SP10	==CPU Heat Sink== Xeon @U CPU Heat Sink		2	39.00	78.00
MBXE5520SC	==MOTHERBOARD== SuperMicro Dual Xeon Intel 55 Max 192GB	520 Chipset Motherboard	1	499.00	499.00
CPIXEQC5620	==PROCESSOR== Xeon QuadCore E5620 2.40GHZ 12M CACHE LGA1366 5.86 GT/SEC		2	400.00	800.00
ME4GBD3DD13	==MEMORY== (32GB) TOTALI SERVER MEMORY DDR3 4GB		8	125.00	1,000.00
SP10	==HARDDRIVE== Intel SSDSA2CW300G3 300GB Internal Solid State Drive		18	545.00	9,810.00
OLSISAS9260	==RAID CARD== LSI Logic MegaRAID 9260-8i Controller 512MB PCI Express	SAS SATA RAID x8 2x SFF-8087	1	550.00	550.00

TERMS AND CONDITIONS

- 1). 1 YEAR LIMITED WARRANTY ON COMPONENTS ONLY. ADVPC IS NOT RESPONSIBLE FOR DATA LOSS UNDER ANY CIRCUMSTANCE.
- 2). 1 YEAR LIMITED WARRANTY ON ALL SYSTEMS. 2 YEAR WARRANTY AVAILABLE. PLEASE ASK YOUR SALES REP FOR DETAILS.

3). ALL HP PRODUCTS CARRY MANUFACTURERS WARRANTY.

4). 15% RESTOCKING FEE FOR ALL RETURNS. NO RETURN OR CREDIT ON SPECIAL ORDER ITEMS.
5). ALL RETURNED CHECKS WILL INCUR A \$20.00 FEE.
6). ADVPC OFFERS A 30 DAY WARRANTY ON ALL AMERICAN POWER CONVERSION PRODUCTS

- MANUFACTURERS WARRANTY THEN APPLIES.
- 7). WE TAKE GREAT CARE TO ENSURE YOUR SHIPMENT IS ACCURATE, HOWEVER SHOULD YOU EXPERIENCE ANY PROBLEM PLEASE CONTACT US WITHIN 48 HOURS. FOR MORE DETAILED INFORMATION, VISIT OUR WEBSITE AT WWW.ADVPC.COM

Subtotal	
Sales Tax (8.25%)	
Total	

Fax #

(972)241-2744 (972)241-0916



Quote

Date	Quote #
5/27/2011	14447

www.advpc.com

DALHART INDEPENDENT SCHOOL DIST C/O: SCOTT HAND 701 EAST 10TH	
DALHART, TX 79022	

P.O. No.	Terms	Rep	Account #	Project	Ship Via
SAN SERVER 2	Net 30	U	DAL747		UPS
Item	Descri	cription	Qty	Rate	Total
CBSAS8087TO80			1	98.00	98.00
MSLABOR09	SFF-8087 TO SFF-8087 1METER CBL ==LABOR== SERVER ASSEMBLY AND TESTING ==RAIL KIT== Sliding Rail Kit		1	75.00	75.00
CASVRINMFSY			1	109.00	109.00
FREIGHT	==FREIGHT== SHIPPING, HANDLING ANI	D INSURANCE.	1	94.00	94.00

TERMS AND CONDITIONS

- 1). 1 YEAR LIMITED WARRANTY ON COMPONENTS ONLY. ADVPC IS NOT RESPONSIBLE FOR DATA LOSS UNDER ANY CIRCUMSTANCE.
- 2). 1 YEAR LIMITED WARRANTY ON ALL SYSTEMS. 2 YEAR WARRANTY AVAILABLE. PLEASE ASK YOUR SALES REP FOR DETAILS.

3). ALL HP PRODUCTS CARRY MANUFACTURERS WARRANTY.

4). 15% RESTOCKING FEE FOR ALL RETURNS. NO RETURN OR CREDIT ON SPECIAL ORDER ITEMS.

5). ALL RETURNED CHECKS WILL INCUR A \$20.00 FEE.

- 6). ADVPC OFFERS A 30 DAY WARRANTY ON ALL AMERICAN POWER CONVERSION PRODUCTS MANUFACTURERS WARRANTY THEN APPLIES.
- 7). WE TAKE GREAT CARE TO ENSURE YOUR SHIPMENT IS ACCURATE, HOWEVER SHOULD YOU EXPERIENCE ANY PROBLEM PLEASE CONTACT US WITHIN 48 HOURS. FOR MORE DETAILED INFORMATION, VISIT OUR WEBSITE AT WWW.ADVPC.COM

Subtotal	\$14,870.00
Sales Tax (8.25%)	\$0.00
Total	\$14,870.00

Quote JAAA3 Net Gear Switch



Quote

Date	Quote #	
5/26/2011	14443	

www.advpc.com

Name / Address

(972)241-0916

Fax #

DALHART INDEPENDENT SCHOOL DIST C/O: SCOTT HAND 701 EAST 10TH DALHART, TX 79022

P.O. No.	Terms	Rep	Account #	Project	Ship Via
Netgear Switch	Net 30	U	DAL747		UPS
Item	Description		Qty	Rate	Total
SP10	MFG: XSM7224S-100NAS 2 24-PORT 10 GIGABIT STAR SWITCH	Netgear PROSAFE CKABLE L2+ MANAGED	1	7,995.00	7,995.00
DISCOUNT	ONE TIME DEMO DISCOU	INT		-545.00	-545.00
SP10	Netgear ProSafe AXM761 XFP - 1 x 10GBase-SR PROSAFE 10GBASE-SR SFP+ LC GBIC Netgear AGM734 SFP (mini-GBIC) - 1 x 1000Base-T LAN PROSAFE 1000BASE-T SFP RJ45 GBIC		3	449.00	1,347.00
SP10			4	249.00	996.00
SP10	Netgear AXC763-10000S Ne 3M DIRECT ATTACH SFP+	twork Cable - 9.84 ft CABLE	2	125.00	250.00
NWCBFIBERLC	FIBER OPTIC PATCH CORD LC/LC 3M MULTI MODE DUPLEX		2	44.00	88.00
FREIGHT	SHIPPING, HANDLING AN	D INSURANCE.	1	49.00	49.00

TERMS AND CONDITIONS

- 1). 1 YEAR LIMITED WARRANTY ON COMPONENTS ONLY. ADVPC IS NOT RESPONSIBLE FOR DATA LOSS UNDER ANY CIRCUMSTANCE.
- 2). 1 YEAR LIMITED WARRANTY ON ALL SYSTEMS. 2 YEAR WARRANTY AVAILABLE. PLEASE ASK YOUR SALES REP FOR DETAILS.

- YOUR SALES REP FOR DETAILS.
 3). ALL HP PRODUCTS CARRY MANUFACTURERS WARRANTY.
 4). 15% RESTOCKING FEE FOR ALL RETURNS. NO RETURN OR CREDIT ON SPECIAL ORDER ITEMS.
 5). ALL RETURNED CHECKS WILL INCUR A \$20.00 FEE.
 6). ADVPC OFFERS A 30 DAY WARRANTY ON ALL AMERICAN POWER CONVERSION PRODUCTS MANUFACTURERS WARRANTY THEN APPLIES.
 7). WE TAKE GREAT CARE TO ENSURE YOUR SHIPMENT IS ACCURATE, HOWEVER SHOULD YOU EXPERIENCE ANY PROBLEM PLEASE CONTACT US WITHIN 48 HOURS. EXPERIENCE ANY PROBLEM PLEASE CONTACT US WITHIN 48 HOURS. FOR MORE DETAILED INFORMATION, VISIT OUR WEBSITE AT WWW.ADVPC.COM

Subtotal	\$10,180.00
Sales Tax (8.25%)	\$0.00
Total	\$10,180.00

Quote JAAAA Net Gear Switch



Quote

Date	Quote #	
5/26/2011	14444	

www.advpc.com

Name / Address

(972)241-0916

Fax #

DALHART INDEPENDENT SCHOOL DIST C/O: SCOTT HAND 701 EAST 10TH DALHART, TX 79022

P.O. No.	Terms	Rep	Account #	Project	Ship Via
Netgear Switch	Net 30	U	DAL747		UPS
Item		ription	Qty	Rate	Total
NWSWNGGSM7	Netgear GSM7328S-200NA GB SMART SWITCH (4) 1	S Switch 24PRT LAYER3 0-GB SLOTS		1,725.00	1,725.0

TERMS AND CONDITIONS

- 1). 1 YEAR LIMITED WARRANTY ON COMPONENTS ONLY. ADVPC IS NOT RESPONSIBLE FOR DATA LOSS UNDER ANY CIRCUMSTANCE
- 2). 1 YEAR LIMITED WARRANTY ON ALL SYSTEMS. 2 YEAR WARRANTY AVAILABLE. PLEASE ASK 2). 1 YEAR LIMITED WARRANTT ON ALL GESTEING, 2 TEACH WARRANTY OUR SALES REP FOR DETAILS.

 3). ALL HP PRODUCTS CARRY MANUFACTURERS WARRANTY.

 4). 15% RESTOCKING FEE FOR ALL RETURNS. NO RETURN OR CREDIT ON SPECIAL ORDER ITEMS.

- 5). ALL RETURNED CHECKS WILL INCUR A \$20.00 FEE.
 6). ADVPC OFFERS A 30 DAY WARRANTY ON ALL AMERICAN POWER CONVERSION PRODUCTS MANUFACTURERS WARRANTY THEN APPLIES.

The state of the s	
7). WE TAKE GREAT CARE TO ENSURE YOUR SHIPMENT IS ACCURATE, HOWEVER SHOULD	
EXPERIENCE ANY PROBLEM PLEASE CONTACT US WITHIN 48 HOURS.	YOU
FOR MORE DETAILED INFORMATION, VISIT OUR WERSITE AT WWW. ADVICE COM	

Subtotal	\$1,725.00
Sales Tax (8.25%)	\$0.00
Total	\$1,725.00

Signature	S	ig	na	tu	re
-----------	---	----	----	----	----

Quote 14476 SAM Server 3

Fax#

(972)241-2744 (972)241-0916



Quote

Date	Quote #
6/11/2011	14476

www.advpc.com

Name / Address	
DALHART INDEPENDENT SCHOOL D	OIST
C/O: SCOTT HAND	101
701 EAST 10TH	
DALHART, TX 79022	

P.O. No.	Terms	Rep	Account #	Project	Ship Via
SAN SERVER 3	Net 30	U	DAL747		UPS
Item	Description		Qty	Rate	Total
SP10	==SAN SERVER CASE== YMI 24 bays SAS/SATA Sto 2x500W PSU	orage Server Case w/	1	1,595.00	1,595.00
SP10	==SPARE PSU== YMI 500W PSU M2W500P		1	249.00	249.00
SP10	==RISER CARD=== RISER CARD 2XPCI e X8 ==CPU Heat Sink== Xeon CPU Heat Sink ==MOTHERBOAR== Xeon Intel 5520 Chipset Motherboard ==PROCESSOR== Xeon QuadCore E5620 2.40GHZ 12M CACHE		1	88.00	88.00
SP10			2	39.00	78.00
MBXE5520SC			1	499.00	499.00
CPIXEQC5620			. 1	400.00	400.00
ME4GBD3DD13	==MEMORY== (16GB) Total SERVER MEM DDR3 4GB		2	125.00	250.00
DRHSG2TBSA3G	==HARDDRIVE== Seagate 2TB 7200rpm 64mb (Cache Serial ATA	12	178.00	2,136.00
DRDVDWLGSLI	==OPTICAL DRIVE== LG SLIM DVDRW 8X SATA OEM		1	85.00	85.00
SP10	==RAID CARD== MEGARAID SAS 9280-24141 SATA+SAS 512MB		1	1,239.00	1,239.00
	0, 1, 5, 6, 10, 50, 60, JBOD R	AID Level - 512 MB			

TERMS AND CONDITIONS

1). 1 YEAR LIMITED WARRANTY ON COMPONENTS ONLY. ADVPC IS NOT RESPONSIBLE FOR DATA LOSS UNDER ANY CIRCUMSTANCE.
2). 1 YEAR LIMITED WARRANTY ON ALL SYSTEMS. 2 YEAR WARRANTY AVAILABLE. PLEASE ASK YOUR SALES REP FOR DETAILS.

3). ALL HP PRODUCTS CARRY MANUFACTURERS WARRANTY.

4). 15% RESTOCKING FEE FOR ALL RETURNS. NO RETURN OR CREDIT ON SPECIAL ORDER ITEMS.

4). 15% RESTOCKING FEE FOH ALL HETURINS. NO HETURIN OF CREDIT ON SPECIAL ORDER TIEMS.

5). ALL RETURNED CHECKS WILL INCUR A \$20.00 FEE.

6). ADVPC OFFERS A 30 DAY WARRANTY ON ALL AMERICAN POWER CONVERSION PRODUCTS MANUFACTURERS WARRANTY THEN APPLIES.

7). WE TAKE GREAT CARE TO ENSURE YOUR SHIPMENT IS ACCURATE, HOWEVER SHOULD YOU EXPERIENCE ANY PROBLEM PLEASE CONTACT US WITHIN 48 HOURS. FOR MORE DETAILED INFORMATION, VISIT OUR WEBSITE AT WWW.ADVPC.COM

Subtotal
Sales Tax (8.25%)
Total

Quote

Date Quote # 6/11/2011 14476

www.advpc.com

Name / Address

(972)241-0916

Fax #

DALHART INDEPENDENT SCHOOL DIST C/O: SCOTT HAND 701 EAST 10TH DALHART, TX 79022

P.O. No.	Terms	Rep	Account #	Project	Ship Via
SAN SERVER 3	Net 30	U	DAL747		UPS
Item	Description		Qty	Rate	Total
CBSAS8087TO80 MSLABOR09 CASVRINMFSY FREIGHT	==SAS INTERNAL CABLE SFF-8087 TO SFF-8087 1MI ==LABOR== SERVER ASSEMBLY AND ==RAIL KIT== Sliding Rail Kit ==FREIGHT== SHIPPING, HANDLING AN	ETER CBL TESTING	6 1 1 1 1	68.00 75.00 109.00 94.00	408.00 75.00 109.00 94.00

TERMS AND CONDITIONS

- 1). 1 YEAR LIMITED WARRANTY ON COMPONENTS ONLY. ADVPC IS NOT RESPONSIBLE FOR DATA LOSS UNDER ANY CIRCUMSTANCE.
- 2). 1 YEAR LIMITED WARRANTY ON ALL SYSTEMS. 2 YEAR WARRANTY AVAILABLE. PLEASE ASK YOUR SALES REP FOR DETAILS.
- 3). ALL HP PRODUCTS CARRY MANUFACTURERS WARRANTY.
- 4). 15% RESTOCKING FEE FOR ALL RETURNS. NO RETURN OR CREDIT ON SPECIAL ORDER ITEMS.
- 5). ALL RETURNED CHECKS WILL INCUR A \$20.00 FEE.
 6). ADVPC OFFERS A 30 DAY WARRANTY ON ALL AMERICAN POWER CONVERSION PRODUCTS
- 6). ADVPC OFFERS A 30 DAY WARRANTT ON ALL AMERICAN FOWEIT CONVERSION THOUSEN MANUFACTURERS WARRANTY THEN APPLIES.
 7). WE TAKE GREAT CARE TO ENSURE YOUR SHIPMENT IS ACCURATE, HOWEVER SHOULD YOU EXPERIENCE ANY PROBLEM PLEASE CONTACT US WITHIN 48 HOURS. FOR MORE DETAILED INFORMATION, VISIT OUR WEBSITE AT WWW.ADVPC.COM

Subtotal	\$7,305.00
Sales Tax (8.25%)	\$0.00
Total	\$7,305.00